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X can complete half of the work in 20 days and Y cam

do one-fifth of the same work in 10 days. X started
the work and left after 8 days. Then Y took over to
complete the remaining work. total number of days
taken by them to complete the works is:

X 31TEY 1A &1 20 T&AT 7 R T HeheT & 3R Y 38T 1
1 ararar GEET 10 el & R T bl 51 X o A YE
foram 3R 8 et o Te; s feam| TR v &F AW Ry 1
feraT| 31 Gleil a1 g 1A G A 3 Tohetel TeeT o 2

[SSC CHSL 2020]

(a) 60 days

(b) 40 days
01 -00 (c) 50 days

») (d) 48 days
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BHD cgor A

A and B can do a piece of work in 18 days, B and C

in 24 days, A and C in 36 days. Working together
they can do the work in

A 31X B fohdY &1eT &1 18 fed H Y Hohd & 3R B 2T

C 3T FH T 24 fGT H I b g dAT A 3R ¢ 38
36 [T & &Y ohd gl 9dI3T d Y AT 39 1A

ol Tohdlel TGeAl H hiaN?
[SSC CGL MAINS 2018] a) 12 days / 12 feeT
(b) 13 days / 13 &1
U 1 '00 M (c) 16 days/16 f&eT

(d) 26 days / 26 f&=T



N/ 7220 SSC 2022 | CGL | CHSL | CPO | uve at 06:30 PM

X and Y together can do a work in 2 % days, Y and Z

together can do the same work in 3 days, and X and
Z together can do the same work in 4 days. The time
taken by X, Y and Z together to do the same work is:

X 3 v e frelt s 1 2 - Rt A qu s war &, v 3R
Z TR S8 1A T 3 f&eil 7 QU X Fehd &, 3N x 3R Z
THeTenY S8 &1 1 4 &l H QU T Fehd &1 X, Y AR Z At
Teh AT fATR I 1A FH dl F1H I QU o H 3op fehclsl
et &1 FHT STT?

(a) 1 day
[SSC CHSL 2020] » (b) 2 days

01:00 sy

(d) 5 days
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A and B together can complete a certain work in 20

days whereas B and C together can complete it in 24

days. If A is twice as good a workman as C, then in
what time will B alone do 40% of the same work?

A 3R B TAWIHT T [ATTd & &1 20 &7 7 QT & Hehd &
STefeh B 31X € TRy 38T & &Y 24 f&eT H QT T Fohdd |
e A, C 8 ST U HAH g, T B 3hel 3T HI & 40%
9T T FehcTel AT H HYIM?

[SSC CGL PRE 2020] W (a) 12 days / fe=T

(b) 10 days / &=

01:00 (c) 18 days / &=t

(d) 15 days/ f&=T



N/ 7220 SSC 2022 | CGL | CHSL | CPO | uve at 06:30 PM

A and B together takes certain number of days to

complete a piece of work . Working alone, A and B takes
6 days and 24 days more than the time taken by A and B
together to complete the same work. In how many days
they together can complete the same work ?

A 3T B fHSRT Ueh I &l I ¥t A [ATREd it sl qH
d gl mmmg@ AﬁTBWm?ﬁWWﬁﬁA
wsm%@mmﬂ6%ﬂﬁ?24 %ﬂmaﬁél a
ﬁwﬁmaﬁ%ﬁrﬁﬁfﬁwwachd%’?

[SSC CHSL 2020]

(a) 9

. ” (b)18
01:00 e
(d) 12
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A and B together can do a certain work in x day;.
Working alone, A and B can do the same work in
(x+8) and (x+18) days, respectively. A and B together

: 5 .
will complete = of the same work in:

A 3R B U Gr fASHT Ueh 1A &l x &t 7 G X Fahd B
A 31 B 3ToI9T-3T019T 1 hlal GT 3T HIH T HHT: (x+8) 3R
(x+18) fe&ail & T T b &1 A 3T B Ueh 1Y ARy 34

1 & 2 9779 Y Fovetoy ot 3 oy o 31
[SSC CPO 2019]

(a) 9

01:00 o

» (c) 10
(d) 12
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5o, ot

A can complete a work in 5 days more than B While

A does the same work in 9 days more than C . If C
can take as much time as A and B together . Then
how many days A alone can finish the twice of that
work ?

A, B H 5 st 31T8eh H Ueh & sl T Il & Sfelieh A 38T
I I C A 9 feeT 31Teeh H G AT & | 3R C &l A 3B A
Toh T folT 310 HHT & sRTeR THI o9l & | BT Tohcdet Tt
H A 37ehel 3 hIH o &l I[AT HIH T HHTCT F Fehcll & ?

[SSC CGL MAINS 2018]

a)l5

. b)18
01:00
»» d)30
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A completes 20% of a work in 5 days and B completes
one-third of the work in 5 days. They began the work

together but B leaves after 3 days. The total number of
days needed for completion of the work is :

A, 8T R & 20% $TeT Y 5 &7 H G Il & 3 B 34T
IR & Teh-TdegTs H1eT 5 8T H QU am &1 9 Th a1 F
E A & Afehet B, 3 Tt o 16 R OIS ST & R QU el
& oI 3maeges fe=Al T el TEAT AT Y |

)18

01:00 .
»c)20

d)30
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A can complete a work in 12 days . B can do in 15 days
and C in 10 days. all of them start the work together. A
leaves after 2 days, C leaves after one more day. in how
many days was the work completed?

A12 f&HT & Ueh A QU T Heh | B,15 feall H 37X C,10
featt & T T FeheTl & Ig Tl TATHRT 1A YE I & A,2
Al F g FABDISSATE IR sAF 1 A dg c s earg
FATST G FIH sl FAT H FHTCT g3 ?

[SSC CGL MAINS 2018]

a)6§

01:00 o
c)12

»» d)8
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A, B and C can do a piece of work in 24, 30 and 40
days respectively. They began the work together
but C left 4 days before completion of the work In

how many days was the work done?

A,B 3R C #m: 24, 30 33X 40 ot & T ey
Fehd §| 37alel Teh ATV HIHA YF fohdT olfehed C o 1A
R 8l § 4 e ugel o3 e | AT X et feait &
T T E3T

[SSC CHSL 2020]

» (a) 11 days

01 00 (b) 13 days

(c) 12 days
(d) 14 days
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A, B and C can do a work separately in 16, 32 and 48

days respectively. They started the work together
but B left off 8 days and C six days before the
completion of the work. In what time is the work
finished?

A, B, C T HII &I eTd1-37clT haA2l: 16, 32 3K 48
feall 7 & Hehdl B | I |IYU-HTY A RS A & Toh B
IR FHTC glel ¥ 8 fisT Ugel 3iR C ©F & Tgel
I & | 1Y fohciet et 31 qRT g31?

[SSC CGL PRE 2020]

(a) 10 days

01:00 ()9 davs

»» (c) 12 days
(d) 14 days
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